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P10OAE TsN1 (plot by DAT)
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P1OAE TsN2 (plot by DAT)
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P10OAE TsN4 (plot by DAT)
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P1OAE TsN5 (plot by DAT)
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P1OAE TsN6 (plot by DAT)
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P10AE (plot by adjDAT)

¢
yY
_Ill‘ “
e ! 1
1 U
1 “ “
1
R
i
1! 1
1 i1 "
1 i1 "
t-—-ell |
..... M R S
Lo ¢
F I %
INII*“ 1 _I‘ “
2ol ?
‘ 1 m_ | -.|||.
! B! _ I
“ _f- IIIIIIIIII -9 “ “
“ “ m L I
—_———— | = 1
Pl ruuu
[ e i ® ﬁ
11 1 1 -—— -
11 - 1 I
11 “ I
| (I
| A SR
T RO ]
1 - !
| 7l
! P
e o o o - I. | “
_ -+~
1 Qo
-9 n
by = —-_————
e 5T
1 I w
1 I
1 I O
| =
! IS
!
1
1
1
1 o
1 £
I o
1 °
1 =)
[ @ D
o o o o o o o
© N < ) ~N —

Buippng a1y sAeqg

80

60

40

20

Days After Transplant



P10AE TsN1 (plot by adjDAT)

Harvest

Turn Color

Fruit Set

Anthesis

Budding

60 -

50 A

T
o
<

o o
m o

Buippng 1oy sAeqg

30 40 50 60 70
Days After Transplant

20

10



P10AE TsN2 (plot by adjDAT)
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P10AE TsN4 (plot by adjDAT)
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P10AE TsN5 (plot by adjDAT)
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P10AE TsN6 (plot by adjDAT)
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